
CHAPTER        8

Multiplication



2 + 2 + 2 + 2 =

4 × = 



Multiplication

4 +         =  8

× =



Multiplication

Fill in the blanks :

Repeated Addition Multiplication

5 + 5 + 5 + 5 = X                   

2 + 2 + 2 + 2 + 2 + 2 + 2 = X                    

4 + 4 + 4 + 4 + 4 = X                    

1 0 + 1 0 + 1 0 + 1 0 + 1 0 + 1 0 = X                

4 5



Multiplication

Fill in the blanks :

Repeated Addition Multiplication                  

1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1 =         X

9 + 9 + 9 = X                          

5 + 5 + 5 + 5 + 5 + 5 = X                       



Multiplication

Fill in the blanks :

Multiplication Repeated Addition

8  X  2  =   2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 = 16

5  X  3  =   =             

3  X  5  =   =

4 X  7  =   =    



6  X  6  =   = 16

8  X  4  =   =             

6  X  3  =   =

9  X  5  =   =    

7  X  7  = =



Count and fill in the boxes:

4 + 4 + 4  = 1 2

3  X  4 = 1 2



Count and fill in the boxes:

5 + 5  =   

2 X   =  



Count and fill in the boxes:

3 + =   

X   =  



Count and fill in the boxes:

+ =   

X   =  



Fill in the boxes using multiplication tables :

3  X  3 =  

4  X  3  =

3  X  7  =  

3  X  5  =

9 2  X  1 0    =  

5  X   5     =  

3  X   6     =  

5  X   1     =  



Fill in the boxes using multiplication tables :

4 × 5 =

4 × 6 = 

5 × 9 = 

4 × 8 =

5  X  1    =  

3  X   5    =  

5  X   6    =  

4  X   4    =  



Fill in the boxes using multiplication tables :

5 × 8 =

4 × 7 = 

2 × 5 = 

5 × 3 =

3  X  2    =  

2  X   8   =  

5  X   6   =  

4  X   9   =  



1. 5 times 5 is

25 30 45

2.  5 + 5 + 5 + 5 = ?

5 × 4 3 × 5 5 × 5



3.  7 × 2 = ?

2 + 2 + 2 + 2 2 + 2 + 2 + 2 + 2 + 2

7 +7

4.   4 × 8 = ?

28 30 32



Match the following :

7 + 7 + 7 + 7 + 7 + 7 + 7 6 × 8

3 + 3 + 3 + 3 3 × 4 

6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 4 × 3

10 + 10 + 10 + 10 + 10 + 10  7 × 7 

4 + 4 + 4  8 × 5 

8 + 8 + 8 + 8 + 8 10 × 6



WORD  PROBLEMS

1.  A rat has 2 eyes. How many

eyes does 4 rats have ? 2
X 4

8



2. There are 5 fingers in one hand. How many   

fingers are there in 4 hands ?



3. A camel has 4 feet. How many feet does 4 

camels have ?



4.  An auto-rickshaw has 3 wheels. How many wheels

does 4 auto-rickshaws have ?



5. If a car has 4 wheels, find the  total number of wheels 

of 8 cars.



Multiplication



Multiplication



Multiplication



Multiplication

Q.4 : 9 x ______ = 9
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